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2. 4Bl 1O A ¢ s w3 ABCD~2 i£25 AB'C'D' > % 04 & AA'
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5. Use the three digital cards of 1, 2, 3 to form three-digit. What is the probability that
three-digit is multiples of 112 (A) % (B) % (©) é (D) %
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IR FIR=3x2x1=6

BRE 181322310 £ 24

1
dept=2=l @A
76 3

6. LiET G FoBEA(L ) E ML EFES B(S,4) R L= 4258 5?2 (A)2x+y=3 (B)
2x+y=6 (C)2x+y=9 (D)2x+y=12
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B y—ax+b o & (1,2)~ (5, 4)

2=a+b
TP 30-4g s q=t i p2
4=5a+b 2 2

VS S LY ~ 1 3 | < 2 —+ =< L
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7. £z 452 BEEEA W EQ, 1)~ @ 1) (4,-9) Bt = kA5t LG @Y
(A)(3, -5) (B)(2,-3) (O)5,-5) (D)3, 4)
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X X
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10. As shown on the right, the two circles intersect at B and E. If
/4=77°,and /G =33°, then, LCFG=
(A)40° (B)50° (C)60° (D)70°
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15. There is a goblet as right graph. The shape curve of the goblet is a A5
quadratic-function graph, y=ax’+bx+c.If N is the apex of the graph, and
AM = BM . Fill it with water. If the water surface width 4B is 10 cm and A/
the water surface height MN 1s 10 cm. What is the water surface height
NP, if the water surface width CD is2 cm? (A)0.4 (B)0.6 (C)0.75 v
(D)1 —
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Lot R AR y =k

—X
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16. % a>0b>0F 2a+3b=4 > B (a+3)(b+2) 2 % % & 5 2 (A) % (B) % ©) 1 oy 8
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I 1+ (31-21) + (41-31) + ...+ (911-90!) + (921-91!) = 9211

2002=2x11x91

#2002 92!
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a+b=-7 > axb=5
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£ 2"=a
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20. It is known that the graph of the linear function f(x) passes through two points (-1, 4) and
(17,-5). Then L2020 =7Q02D o Ay _% (B) —2 (C) -1 (D) _§
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£ t=logx
Fsi=(t+log5)(t+loga)=12z {2
Sot=loga s t=log S
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1
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- S
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r BEA-B~C~D 7

FAREH® CREE;BAEH® D&
L iE A 4x2x]x]1=8
T 3,k 4x3x2x1=24
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FHEINFPEEAE L TFEF UG 1207 & 8BHFSDLBFFEE > 40f
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12X A\=28x[_[=42x+ * [12,28,42]=84
=7 []=3[]=2
R 84+(7T+3+2)=7> 2§ 71 » E Co

25. Abottle of beverage has two parts A and B. Part A is a cylinder,
as shown in the picture. Now the bottle contains some drinks. The B
height of the beverage is 20 cm when placed. The height of the
remaining part is 5 cm when it is reversed. If the volume of the A
beverage bottle is 30000 cm’. What is the volume of the existing
beverage in the bottle? (A)20000 (B)22000 (C)24000 (D)26000
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Bk ARA ko fF=X em® —A 24 20x cem’ 0 B T 5x cm’

20x+5x =30000 , x=1200

A 1200x20=24000 - ¥ C »
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BREizx=a R iypyar

x+x+(y-3)+(y—-2)=95 > 2x+2y=100 > x+y =50

x;yz./xy 225> Jxy + xy <625
2AR

A Y SO AR

a b c d

2. e arg s b ~ce~d¥oL P H S= + + + v R 1<S<2 o
a+b+d b+c+a c+d+b d+a+c
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a~b~c~dPEi Dk
a a b b ’ c c d - d
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. a a b b c c d d
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